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Instruction: Answer ALL questions.

Ql State FOUR (4) characteristics of Java.
(4 marks)

Q2 Given the following class, called rwinkreo write some code that creates an instance of the
class, initializes its two member variables, and then displays the value of each member
variable.

public class Twinkle {
public int anlnt;
public double aDouble;

)

(5 marks)

Q3 Consider the following code snippet:

int i
int n

?nq.

i++85;

(a) What are the values of i and n after the code is executed?

O) What are the final values of i and n if instead of using the postfix increment operator
(:-++), the prefix version (++i) is used?

(4 marks)

Q4 What are the outputs ofthe following program:

cLass Star
{
public static void main(String arS[])
{

j-nt i, j ;
for ( i:1 ; i<=6; i+ + )

{
for (j:1; j <:6-i,' j ++ )

System.out.print (" ") ;
for 1 i:1' i<:2* i-7 ; i++l

System. out.print ('*" ) ;
System. out.println ( ) ;

i
)

]

(4 marks)
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Q5 Consider the following two classes:

(a) Which method overrides a method in the superclass?

(b) Which method hides a method in the superclass?
(4 marks)

Q6 Determine and justifr whether method overloading occurred in the following program.

public class Cl-assA {
public void methodOne(int j-) {}
public void methodTwo(j-nt i) { }
public static void methodThree (int i)
public statj-c void rnethodFour(int i)

l

public class ClassB extends CIassA {
public static void methodOne(int i)
public void methodTwo(int i) {}
public void methodThree(int i) {}
public static void methodFour(int i)

I

tl
{}

1l

i)

class A {

public void display( ) {

System - out. println ( "Java" ) ;
))

public c.lass B extends A {

public vold displayO {

System. out . println ( "Hi" ) ;

l)
class objl {

public static void main (String[] args)
Bb:newBO;
b.displayO;

])
(4 marks)



BIT3383/ BrT 33803

Q7 Given the following Java code:

switch (beta)
{

case 3:
beta:beta+3;
beta++;

beta:beta+1;
z2
beta--;
breaki

5:
beta:beta+5;

4:
beta:beta+4;

case

case

case

case

Figure Q7

(a) Referring to Figure Q7, suppose the input is s and all variables are declared
properly, show each value of ueta after each related statements in the above Java
code is executed.

(4 marks)

(b) Explain OI\E (1) implication of placing the reserved word break in each case

statement.
(2 marks)

(c) Modi$ the above Java code so that only one case statement will be executed based

on the input.
(4 marks)

Q8 Given the following Java code:

Figure Q8

(a) Show the outputs produced from the Java code in Figure Q8?
(4 marks)

(b) Design a flowchart for the Java code in Figure Q8.
(5 marks)

(c) Rewrite the above Java code in Figure Q8 using do. . whil-e loop that produces the
same output.

(6 marks)

7 : 2;
for (i : 1; i. <: 4; i++;
{

System.out-print (j
j = j + s;

l

I tt tt);

stem- out -println O ;
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Q9 Consider the following Java codes:

public class
t

n.i rr:t- a
nri rr:+ayrrwquv

public
public
public

]

public cfass
{

nri rral-a

public
public

l

FirstCl-ass

int a;
; h+ L.

rrnid nnal\ I I

void two(int x, int y){ }
FirstClass O { }

SecondCl-ass extends First

i nt- n.

void one0{ }
SecondClass O { }

FirstClass firstobj;
SecondClass secondObj;

Figure Q9

(a) Identifr class name, attributes and operations.
(4 marks)

(b) State TRIIE or FALSE if the private members of Firstclass are public
members of SecondClass.

(2 marks)

(c) Write the definition of the method two of Firstct-ass so that the instance variable a

is initialized to the value of the first parameter of method two and the instance
variable n is initialized to the value of the second parameter of method two.

(4 marks)

Q10 A class named Rectangle contains:

(i) Two doubre data fields named length and width with default values 1.0 to
denote the length and width of a rectangle.

(iD A no argument constructor which creates a default rectangle.
(iii) A constructor that creates a rectangle with the specified lenqth and widrh.
(iv) A method named setArea O determining the area of the rectangle.

(a) Draw the UML diagram for class Recransle.
(3 marks)

(b) Write a Java program to implement the class Rectansle. 
(7 marks)
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QU Explain how polymorphism works in the following Java class programs.

class School extends Building {

]

cl-ass Building extends Architecture {
public void displayO {

System. out.println ( "BuiJ-ding") ;
])
cl-ass Architecture {
public void displayO {

System. out . println ( "Architecture" ) ;
))
class obj {

pubJ-ic static void maj-n (String[ ] args ) {

School school : new School O;
school - display ( ) ;
Building building : new Bui-lding ( ) ;
building. displ-ay O ;
Architecture architecture : new Architecture ( ) ;
architecture.display ( ) ;

))

(10 marks)

Q12 There is a text field at the top of the frame (used to display the results) and a 4 by 4 grid of
buttons. A label can also be used to display the results. Create a program using a grid layout
to position the digit and operator buttons in a frame as shown in Figure Ql2 below.

Figure Q12

(20 marks)


